Georgia Agriculture Education Curriculum



Course:
03.452

Forest Science II

Unit 8:
Economics of Forest Resources Management
Lesson 3:
Federal Estate and Income Taxes

QCC:
58, 60, 61, 62, 64, 76, 77, 78, 79, 380
Objectives: 

1.
Explain allocation of capital costs to basis.

2. Explain the difference between land and timber accounts.

3. Explain expensing versus capitalization.

4. Explain how a timber sale can qualify for capital gains qualification.

Teaching Time: 



2 days – 55 minute periods

References: 

Harvey, Harry L. and Siegel, William C.  Timber and the Federal Income Tax.  The University of Georgia Center for Continuing Education.  
Materials and Equipment: 

Overhead projector

Dry erase or chalkboard

Handouts

Teaching Procedure

Introduction and Mental Set

The present tax system was enacted into law on October 3, 1913.  Since then, numerous other revenue acts have been enacted into law.  An appropriate tax accounting is essential to successful timber investments and businesses.  Tax consideration, however, should be kept within the context of the timber owner=s goals and the economic climate.

Discussion

1.
What is meant by allocation of capital costs to basis?

Capital expenditures spent to acquire real estate or equipment, or to make improvements that increase the value of real estate or equipment already owned.  Forestry examples include land, buildings, standing timber, reforestation costs, and equipment.  The original basis is the capitalized value attached to a capital asset at the time of acquisition.

2.
How is the basis computed when purchased, inherited, or gifted?

A.
Purchase: the basis is the amount paid to acquire an asset including acquisition costs.

B.
Inheritance: the basis is the fair market value represented on the federal estate tax return.

C.
Gifts: the basis is carried to a donee from a donor.

D.
The adjusted basis is the original basis less any reductions

made because of depletion, amortization, depreciation, or losses claimed, and any additions made by capitalization of improvements or additions to the asset.

3.
Discuss the methods of capital recovery.

A.
Depletion: the method by which a timber owner can recover that portion of the investment in a tract of timber attributable to those particular trees that are cut or otherwise disposed of at a specific point in time.

B.
Amortization: the recovery or deduction of capitalized costs over a short period of time prior to sale or disposal of the items in question.

C.
Depreciation: the process by which the capitalized cost of assets such as machinery, equipment, and buildings is recovered (deducted) as the assets are worn out while being used in the process of producing income.
4.
Explain why the land and timber accounts have to be kept as   separate entities.

A.
Proper capital expenditure record keeping is extremely important for timber operations for a number of reasons.  The length of investment is longBtypically 25 to 50 yearsBthis means capital recovery may be many years in the future.  The complexity of timber investments involves many different types of capital expenditures that occur at varying times during the investment.

B.
The IRS does not dictate the types of records that must be kept to support capital recovery; however, it says that records must adequately reflect expenditures and be kept in a form suitable for an audit.

C.
Land accountBIncludes bare land and permanent roads.

D.
Timber accountBMerchantable and Pre-Merchantable.  The merchantable timber value can be determined with a timber cruise.  The pre-merchantable timber=s value can be determined by comparable sales or discounting to the present time.

E.
In addition you may need a depreciable real property account to include any buildings or temporary roads.  Some forestry enterprises also have a need for an equipment account to include trucks, tractors, planting machines, and fire plows.

5.
Is there a difference between expensing and capitalization?

A.
Yes, expensing is claiming deductions for the expense in the year that it occurred.  Both corporate and individual are allowed to deduct all Aordinary and necessary expenses@ incurred for the production or collection of income and for management, conservation, or maintenance of income.  Expenditures incurred to manage, protect or maintain the asset during its life is also an expense (e.g., cost of prescribed burning).

B.
In contrast, capitalization includes amounts expended for permanent improvements made to increase the value of the property.  Improvements having a useful life of more than one year will be considered capital expenditures.  Thus, expenditures to establish or create the asset are capital in nature (e.g., those incurred for reforestation).
6.
Does a timber sale qualify for capital gains qualification?

A.
Prior to 1944, all sales of timber had to be regarded as ordinary income.  Equity was achieved in 1944 by the enactment of Section 117(k) of the code.  Congress was fully appreciative of the impact of taxes upon forest practices and greatly influenced by the necessity of stimulating timber growth as a critical natural resource.

B.
The capital gain rate is now 20%.  In addition to usually being a lower rate, the self-employment tax does not apply to capital gains. Whether timber gains and losses qualify for gains and losses or not depends on how it is sold and held.  The timber must be held for one year to qualify for capital gains treatments.

C.
Capital gains treatment will apply if the timber is a capital asset in the hands of the sellerBthat is, if it is not held primarily for sale to customers in the ordinary course of a trade or business, but is being held primarily as an investment.
D.
If the timber is cut under a contract that requires payment at a specified rate for each unit of timber actually cut and measured, rather than for a lump-sum amount of money agreed on in advance, is a disposal with a retained economic interest rather than a sale of timber.  In this case, the gain is treated as a capital gain regardless of whether the timber was held primarily for sale as part of a trade or business.

E.
A lump-sum timber sale may also be treated as a capital gain depending on the number, continuity, and frequency of sales.  If more than five years occurs between sales, the sales are generally qualified under capital gain provisions.
Summary


A timber owner should keep good records and get help for forest management and tax planning.  Proper tax planning is just as important as the management techniques to grow a profitable timber crop.
Evaluation

Written exam as follows:

EXAM

1. Explain allocation of capital costs to basis.

2. Define basis.

3.  Compare how basis is computed when purchased, inherited or gifted.
4.  Explain the differences between depletion and amortization.
5.  Define depreciation.
6.  Differentiate between a timber account and a land account.
7.  Compare expensing versus capitalization.
8.  The capital gain tax rate is now ___________________.
9.  Does the self-employment tax apply to capital gains?
10. A lump-sum timber sale may be treated as a capital gain under what 

      circumstances.
EXAM ANSWERS

1. Explain allocation of capital costs to basis.

Capital expenditures spent to acquire real estate or equipment, or to make improvements that increase the value of real estate or equipment already owned.

2. Define basis.

The basis is the capitalized value attached to a capital asset at the time of acquisition.

3.  Compare how basis is computed when purchased, inherited or gifted.

Purchase-Amount paid to acquire an asset.


Inherited-Fair market value given on federal estate tax return.


Gift-Carried to a donee from a donor.


4.  Explain the differences between depletion and amortization.
Depletion is the method by which a timber owner can recover that portion of  the investment in a tract of timber attributable to those particular trees that are cut at a specific point in time, while amortization is the recovery or deduction of capitalized costs over a short period of time prior to the sale or disposal of the items in question.

5.  Define depreciation.
The process by which the capitalized cost of assets such as machinery, equipment, and buildings is recovered (deducted) as the assets are worn out while being used in the process of producing income.

6.  Differentiate between a timber account and a land account.
The timber account only contains the premerchantable and merchantable timber while the land account only contains the bare land and permanent roads.

7.  Compare expensing versus capitalization.
Expensing is claiming deductions for the expense in the year that it occurred, and capitalization is adding to the value of or creating an asset.

8.  The capital gain tax rate is now _____20%___________.
9 . Does the self-employment tax apply to capital gains?

No.

10.A lump-sum timber sale may be treated as a capital gain under what        

     circumstances.
Depending on the number, continuity, and frequency of sales.  If more than five years occurs between sales, the sales are generally qualified under capital gain provisions.
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